EARAROBEEIERT — 2 N— IBISH —F

2016564198 (B) 1EI&EE2H

(xwlm [ memml - |y ) oo nE

El+&rm%3 5005 F ¥5%3&EL (B

[A~&£] 1 7% 10,500,000 B 2 7 :4,200,000 @ 3 &

&) [EE] T8

2,600,000 B

4 7% 11,600,000 53 1,050,000 F

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N N FiBEXR 145, 22— . . HRHEE (EX)
(gl ¥ hs 77 20— 3 5_0 1(4_5)6 2-2-2-2 | 38.0[100.2| 1 zzg)z éiiﬁ
L:r07x B:FaF—-TJL17 TS
=3 . 2 4 | BB 1:46.2 1-1-1-1 |38.8| 95.2 | 2 480 | =&z (RRW)
] 4| =¥ FKX— [B] 57.0 @ 1/2) (va) | EEREZFEE
R:7y3I5—L B:8—7%Talvy Lot
s 4 o4 | KOEE 1:46.5 5-5-5-4 | 38.6 | 92.5 | 7 470 | RBIERE (BR)
355 |FTINET 57.0 @ (+4) lJ.lJ:fIJEE
L:BALINT Ry TX B ZX—=IN—FT X pil=cbae]
T £ 4 | HERHRN 1:46.6 12-12-7-6 | 38.5| 91.5 | 8 474 | EEEZ ()
s 7| /AT RR—1 “ % 50 (3/8) e | AR
L:TVYA XTI RN B/ yT1>TF v B fE—
“ N o4 | ATR :46.6 7-7-7-6 | 38.5| 91.5 | 3 500 | IRARIE (i)
5| 1]1| V7N XS~ 57.0 (") e |ER
RIVINATA—h— B:T17/—42L LZHhITy7—L
> 4 3 | BRER 1:46.6 7-7-9-9 |38.2| 91.4 | 6 438 | HHEBEEL (EX)
61719 XTI by— 54.0 () 42) | @R FITLYKIST 5T
L 2FAd—I R B:IXRT¥a—hH— EvJLy RIT7—L
— . 4| BIEHE 1:46.8 4-4-2-3 [ 39.2| 90.2 | 4 480 |BE (E®R)
7 3 IV TFN=7 57.0 (1 1/2) (+10) h?’;) e/
L:F1=TAHA B:INTH-I AU I MRS
s =\ THEA : -10-12- #HET (FR)
8 g|x1735>907 4 3 FE 1(;?:) 11-10-12-9 | 38.3 | 88.8 | 10 (4+720) gaan%fru
R:d=IK7Ua— B:TLHHTS54X AR
S 44 | EEES 1:47.0 5-5-5-6 | 39.0| 88.3 | 5 466 | EEES (ER)
9|70/ I/ YTY 5.0 3/4) 4o | ERIIEE
L:yA7%x #B:av/x3 Gl EEaec]
# o6 | SHEK 1:47.6 7-7-9-12 39.2| 83.3 | 11 | 480 |HILEA (RF)
1018111 XA hFA 57.0 (3 1/2) (-2) EFEANFR—LT 1> TX ()
R:xLTHANAN BikyTXMF4y b =k e
- e o4 | SRILE— 1:47.7 2-2-2-4 | 40.1| 83.4 | 12 | 500 |BEFIEZE (EXR)
] o | d—K70O—1)— 55.0 (1/2) tg) | BHE
LN—E T v— BINFILAARYY 77 —L4
P A A 3 4 6 | dLHR— 1:47.9 10-10-9-9 | 39.5| 81.1 | 9 506 | PERFBE (FR)
12|56 Y ELEAT 3T 57.0 (1 1/2) © KFEE
LA TATv— B:TVTUH (B) tAaI-—FRL -3 @ET7
@ 71 L
) 50.2-38.2
NA> 24 L | 6.8-11.7-12.1-12.3-12.5-12.0-12.2-12.7-13.3
® I —F—EBIERL
13—F— 4(2,12)3(5,10)-(1,9,11)6,8,7
2= = 4(2,12)3(5,10)-(1,9,11) (6,8)7
Gal=7r= 4(3,2,12)-(5,10) (1,7) (6,9,11)8
40—+— |4,12,3(2,5)(1,10,7) (6,9,8)-11
[ N3
BB 12 260M 714K 4-12 290M e E 4-8 500 JEHE 4-5-12 2,620/
8 B 12 140 =12 990M B E 4-12 470M B 12-4-5 8,780
4 150/ 4-5 790 B H 12-4 850
5 270M

ABICOVWTRDTEEERROODE. TR LIV,




